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[n which car will you be
moving the fastest at the
very bottom of the incline?

a) Front car.
b) Middle car.
¢) Rear car.
d) Other.
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h car will you be
ing the fastest at the
bottom of the incline?

a) Front car,
b) Midadle car.
¢) Rear car,
d) Other.

CONCEFTUAL F’hys ics

VAN
Answer: b -Aéx fﬁl

Of course, at any moment all cars |
have the same speed, but the gravitational
potential energy of the system of cars is least
when the middle car is at the bottom—when
the center of mass of the system is lowest,
Lowest potential energy means highest kinetic
energy. So sit in the middle car for the fastest
ride at the Very bottom! If the upward slope is less then the
- downward slope, can you see that the
Another case where cunsidam@ cars will move fastest when a car in

of energy simplifies a problem! back of the midcar reaches the bﬂHﬂl‘ﬂ?‘r f\ 7N 7N /.l"

[
{ ARBOR SCIENTIFIC y -
O 2007 Paul G. Hewitt

~




